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Note : 1.

‘Part-A’ may be attempted in first 6
pages of Answer-sheet.

‘Part-B’ in rest of the sheets of Answer-sheet. ,
The question paper consists of two
parts, namely, Part-A & Part-B.

A candidate has to attempt both parts.
Part-A consists of two questions and
Part-B consists of 5 questions.
Answer may be given in Hindi or

English language.

[Part — A] .

1, Answer any 10 questions. 2x10 = 20

(1)

- (i1)

If

3 4

find A + AT.
If

x+1 x-1
x—3 Xx+2

N

Au_
1213

find the value of x.
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(iii)

(iv)

(v)

(vi)

(viii)

(ix)

(2) - 0o
If

a=l% e )

find adj (AB).

Find the value of A for which the vectors
da=21+X\+9% and b=7-2j+3k are
perpendicular to each, other.

If 4=1+2j—3k and b=2]+4]+9k,
find a unit vector parallel to 2+b.
Find the eccentricity of the hyperbola
9x? — 16y* = 144

If the latus-rectum of the parabola
x* = —2py is of length 16 units, find mrm‘
value of p.

Find the equation of the circle, the
coordinates of the end point of whose
diameter are (-1, 2) and (4, -3).

A line passes through the points (a, 2a)
and (-2, 3) E.a is perpendicular to the
line 4x + 3y + 5 = 0, find the value

of a.

3K-ASN2A 3) Vw0
(x)* If g
sin? 6x — sin? 4x = sin AX sin Bx,
find A + B. _
(xi) Find the 4th term from the end of the

G.P. 3.76.°12,y24;2%3072!
(xii) Define a symmetric and a skew-
symmetric matrix.
(x1i1) Determine the values of 'a' for which E@
line
(a+2)x+@-9y+32°-8a+5=0

passes through the origin.

(xiv) Find the distance between the parallel
lines
3x -4y +9=0and 6x -8y -15=0

2. Attempt any five parts : 4x5 = 20

(i) Prove that - 4
cos 4x = 1 — 8 sin’x cos’x
(ii) Find the 11th term from the end in the

expansion of
25
d
2X ———
e
Find the sum of the following series :
T+ 77T+ 7T+ 11LH *......... to n

95

terms.
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(iv) Resolve
2x —1
AN+5 ANN +Nv :

into partial fractions.

(v)  If G is the centroid of the triangle ABC,
show that
GA +GB+GC=0
(vi) What m.n_o the points on x-axis whose
perpendicular distance from the line
4x +3y=121is 4 ?
Find the equation of the hyperbola,
referred to its principal axes as axes of

(vii)

coordinates, whose vertices are at

(0, +7) and eccentricity € H.ww ;

(viii) Find matrix x for which

H.L. !Holm
3 =2 7 2

N

[Part-B]

Attempt any three questions. 20x3 = 60

" (a) Show that the matrix

2
2
1

1
A=|2
2

1
2
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(b)

(a)

(b)

(a)

(b)

(a)

6) a0
satisfies the equation A’ — 4A 551, =0
and hence find A-'.

Show that

a a+b atb+c
2a 3a+2b 4a+3b+2c|=a’
32 6a-+3b 10a+6b+3c

Show that the equation

3x2+4y* - 12x -8y +4=0"
represents an ellipse. Find its centre,
foci, eccentricity and the equation of its
axes and directries. _

Find the area of the :,.mm.am_o whose
vertices are

AQ3, -1, 2) B(, -1, -3) and C(4, -3, 1)
Find the equation of the parabola with
vertex (2, —3) and focus (0, 5).

Find the equation of the circuimcircle
of the triangle formed by the lines
X+y=6,2x+y=4and x +2y = 5.

In a triangle ABC, if a cos A = b cos B,
show that the triangle is either isosceles

or right angled.
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(b) The angle of elevation of a cloud ?QE‘. Qwﬂw v
a point 60m above a lake is 30° and the - 1. 9T RS, dmu.mmmﬁ ? YEd 6 m&?ﬂ%
angle of depression of the reflection of F)

cloud in the lake is 60°. Find the height |
of the cloud.

T R IR, A IRAE B T IS W E |

qiendt @t AT & WA A B

= AF-UR B 2 AR E, WA (31) T ww ()

wrr (1) F 2 wew ud W () § 5 W E
(WRT-3)

Obtain the equations of the lines passing
through the intersection of lines

4x -3y-1=0and 2x -5y +3 =0

are equally inclined to the axes.

If S, S, and S, be respectively the sum ¥ i | gt o I ferierd |

of n, 2n and 3n terms of a G.P., prove " a_ m_
that | | W o i
$,(8,-8,)=(S,-8,? A+ ATFTE B |
4 b s e
(i1) =3 xer SRS
x T A ST Fr '
2 3] 0= gl w0
f (iif) >uﬁL_L.w1T L

~ adj (AB) §T@ @i |
(iv) WRY a=20+N+9% T b=i-2j+3k
EqY @FEad 2, df A @7 "I |
I |
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)

(vi)

(vii)

(viii)

(ix)

(x)

(xi)

(8) : : =00
d=1+2j-3k 78T b=2] +4j 40k, @
afesr d+ b & qaR 5 ARy 2 # T
BT |
sfoaaea
9x* — 16y* = 144
T SeheEdl ST R |
WaaT .

x? = -2py
mwﬂ?.mﬂ%mﬂﬂ;mﬂww.mwwﬂ
HIT ST B | |

SH Jq H WHIHIOT T A P =amg

% R & Prdans

(-1,2) T (4, -3) &)

T 3@m

(a, 2a) T (-2, 3)

q Bt AT & der

4x +3y+5=0

T TG © | a HT HT 51 o |
sin® 6x - sin® 4x = sin Ax sin Bx
a1 A + B sTd #ifoa |

ToFo

3,612,294, ... 3072

T o @Y SR F e 92 s @

3K-ASN2A (9 1200
(xii) TWh@ ud A=y afe ARG F wRewiE
H | :
(xiii) ¥@r

(@a+2)x+(@a*-9y+3a’-8a+5=0
fsn® ot & qu g @ St 9, @@t a
FT A ST DI |

(xiv) GETR @Rl

3Xx-4y+9=0Td6x-8y—-15=0
& 919 QU S B |

2. gt s F e BRR

(1)

(ii)

(iii)

(iv)

g W
cos 4x = 1 — 8 sin’x cos’x

25

1
Ix —
Aa xwv

# wor & 119t vz s B ) g
oy

UZ T AN ST BT |

2x—1
(x+1) (x* +2)

&1 srifer Bt F R AR
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10y . 12,00

(v) P ABC#H #=5 G 2, d fug aafm
GA+GB+GC=0

(Vi) x-318 W I BT F g & ey, Team 4x +
3y=128 wuaa gt 4 &

(vii) T SAfTREwT F G s1e A R

&1 318, fdsnies oteil & w0 § & qar of

Ao,w.dﬂmﬁa&ﬂﬁmﬂm@._ |
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()

(@)

s, T —-16 -6 i
o | el
¥ A x Y T A !
(@)
(Wrr-3) r
S I Y IR iR | . B
() Rrs HRE 5 g
L2 oo
A=[2 1 N\ 6. ()
3 2 ,

THIHTOT A2 - 4A — 5,=0

B UIR I 8, TR A~ ST P
@ s aftw
8%oa+h a+b+c
2a 3a+2b da+3b+2c
3a 6a+3b 10a+6b+ 3c

(@)

(11) 13200
ftrg SR fop afetor

3x2+4y2 - 12x -8y +4=0 _

s A @ A 2 s d, A,
Scheadl qdr aa T farel @ gefteRtr
ST BT |

AG, -1, 2) B(, -1, -3) 7T C(4, -3, 1)
giteit & Preqst &1 & st i |
ofref (2, -3) e T (0, 5) B Wawy A
THIRTOT ST HIT |

@it
X+y=6,2x+y=49x+2y=5

q & Brgs & sl & 9 At g &
HIHLOT ST DI | _
T ABCH,acos A=bcosB &, @t Rig ¢
i o B a1 @t wafgarg a1 g9
e 2

U S & SR 60 Hiex W R g &
AT BT I~TE BT 30° 7T S F qrew
& wafda e &1 s wior 60° 1

AT B, HAE T FBRA L
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7. (%)

(@)

az) 1200 -

@t
4x -3y-1=0Tam2x -5y +3=0
F wer-faeg & I arelt Yt & FHiETT

S i S el W A ®Y QA
2

ﬂﬂmmohwo @ n, 20 4T 3n W& %.&ﬁmﬂﬂ”
s, s,as,¥, @ R Ak

8(8, =Sy =(S,= S )




